v
=
'_
<
=
=)
wl
=
o

thRIRESEL
Medium Cylinder

TMB(932

~@100) Series

Common Specification (£ [&# #8)

Bore(L{2)(mm) @32 | @40 | @50 | @63 | @80 | @100
Fluid (i) CleanAir(E =5
Action(Zh1EF ) Double Acting(W#h)

Proof Press.(#RiEffi £ 77) 1.5Mpa

Max. Press. (& &1 A& 71) 0.99Mpa

Min. Press.(R{E1ERES) 0.05Mpa

Amb.Temp.(FME R R ARE) -5~+60°C(FHRIFLE)

Piston Speed(i& Z & &) 50~500mm/s

Cushion (&) Air Cushion(S£&4)
*Lubrication(ii#i&) Non-Lube(REE)

Magnet (## 1) Built-in Magnet(5 43 F)

Stroke Tolerance({TI2A %) 0~250:%° 251~1000: §*

Pipe Size(##&0#)Rc(PT) v | 4 [ e | s | e |

- Use Tubine Oil 1st-Grade ISOVG32,|f Necessory(#NE ;815 AiE F15iHISOVG32)

How To Order (B! S KRR A %)

TMB B 40 -100 Y - M9B S

II II | I_l | II |

Mounting Bore Stroke Accessory *Auto Switch No.of Auto Switch
MiERERR ErRES 712 B HEMEFF % TR E
B | Basic Type (& A& &) Please referto the table. | | I Type Knuckle Joint (BIZR L) Nil(z) [ None (THEMEFF ) Nil(zs) | 2(1)
L | Foot Type(# & 2) 3240,50,83,80.100 HEETRE Y| ¥ Type Knuckle Joint (VETIRER) _ A4 |Reed SwichBEEARERE _ S | 1(D)
F | FrontFlange (#F fl 5% ) * Auto Switch (B FF )31 B KEEFIZS: TiZS-1m (i) _M9B |Reed Switch(FHESHMFX) 3 | 3(M)
G |Rear Flange (/5 3% %) L -3m MONP | Contactless Switch(JT#& st T %)
C | Single Clevis (88U% &) Z=5m A25B |Reed Switch(fr A2 SHMET %)
D [Double Clevls iXU%’]&)
T | Center Trunnion EP?HEH) StrOke(1T$£
R | Trunnion Bracket (4 B 3% FE) Bore R

(&) Stroke (FrA#E1THE)

(mm)

(mm)
@32,040 25,50,75,100,125,150,175,200,250,300,350,400,450,500
350,063 25,50,75,100,125,150,175,200,250,300,350,400,450,500,600
280.9100 | 25,50,75,100,125,150,175,200,250,300,350,400,450,500,600,700,750
* Contact us for other stroke. (IEFRITIRIBSE L RER)

Part No. of Mounting(Z 2 Mi{4-# 5)

Bore(fZ)| @32 @40 @50 263 @80 @100
L TMB-L032 | TMB-L040 | TMB-L050 | TMB-L063 | TMB-L080 | TMB-L100
F
TMB-F032 | TMB-F040 | TMB-FO50 | TMB-F063 | TMB-F080 | TMB-F100
G
Accessory| C | TMB-C032 | TMB-C040 | TMB-C050 | TMB-C063 | TMB-C080 | TMB-C100
e
(REMI)  p TMB-D032 | TMB-D040 | TMB-D050 | TMB-D063 | TMB-D080 | TMB-D100
E | TMB-E032 | TMB-E040 | TMB-E050 | TMB-E063 | TMB-E080 | TMB-E100
T | TMB-T032 | TMB-T040 | TMB-T050 | TMB-T063 | TMB-T080 | TMB-T100
R | TMB-R032 | TMB-R040 | TMB-R050 | TMB-R063 | TMB-R080 | TMB-R100
Accessory| | TMB-0321 | TMB-040I TMB-050I TMB-0801 | TMB-100I
(EEMH)| v | tmB-os2y | TMB-040v TMB-050Y TMB-080Y | TMB-100Y

1.64 “TETITE



pRRESEL
Medium Cylinder

TMB(932~0100) Series

v
=
=
<<
=
=)
L
=
a

Dimensions(mm)(%h 2 R~ B(Z X))
Basic Type(ZE A Z!) TMBB

. = —
PORT SR Cushion Valve 2-PT 2-Q
e - -
O~ T |/ [ oo
_ _ _ [ _ _ _ _ i _ oz
[SIRS
) =
2 ==
U 8-MX G P
i H A
Y F F E_IID B
K J+Stroke {
L+Stroke
Bre@®) A | B | D| E| F | G| H | J | K| L MM |ON|@O| P [PTI Q| R | S| T|U|V| W MX
@32(19.5/ 22 | 6 |13 26.5| 4 |16 | 47 |83 | 4 |135|M10x1.25/ 30 | 12 | 8 (1/8" 13 |6.5| 4 | 10 |32.5/ 46 |2.5| M6x1.0
@40( 27 |30 | 6 |13 |26.51 4 |16 | 51|83 | 4 |[138|M14x1.5/ 35|16 | 8 |1/4"13.5| 9 | 4 |14 |38 | 52|2.5| M6x1.0
25013235 7 |14 31| 5 |16 | 58|93 | 4 |155|M18x1.5/ 40| 20 | 11 |1/4"| 15 [10.5 5 | 18 |46.5| 65 | 2.5 |M8x1.25
@63(32|35| 7 |[14|31| 5 16|58 |93 | 4 |[155\M18x1.5/ 45|20 | 11 |3/8" 16 |12 | 9 | 22 |56.5| 75| 4 |M8x1.25
@80| 37 | 40 | 10 | 20 37.5| 5 |16 | 72 |113| 4 |189|M22x1.5| 45| 25 | 13 |3/8"18.5| 14 |11.5/ 22 | 72 | 95| 4 |M10x1.5
@100| 37 | 40 | 10 | 20 37.5| 5 |16 | 72 |113| 4 [(189|M26x1.5| 55| 30 | 16 [1/2"18.5| 15 | 17 | 26 | 89 |114| 4 M10x1.5

Dimensions(mm)(%h 2 R <t B(Z X))

Foot Type( i E#! ) TMBL

, 1] = =
Ik

(@l

%% @ E 4-@LD — = = =

T % T YI IX
LX LS+Stroke
Lz L+Stroke

Bore(fL &) Max.Stroke(RAITIE) X Y gLD LH LS LT LZ L LX LY
@32 800 22 9 7 30 131 3.2 50 161 32 53
340 800 24 11 9 33 131 3.2 55 169 38 59
350 1000 27 11 9 40 147 3.2 70 189 46 72.5
63 1000 27 14 12 45 147 3.2 80 192 56 82.5
280 1000 30 14 12 55 173 4.5 100 229 72 [102.5
@100 1000 32 16 14 65 177 4.5 120 233 89 122

#TE[E]TE 1.65




thRIRESEL
Medium Cylinder

TMB(932~0100) Series

PNEUMATICS

Dimensions(mm)(%h 2 R <t B(Z X))

FrontFlange Type(4F 1l ;% =) TMBF

) | BN B |oFD| FE | FT | FX |FY | FZ

m\
@ P @32 | 800 (50| 9 | 3 [10 |64 |32 79
e @40 | 800 [55] 9 | 3 [ 10723690
@50 | 1000 [70| 9 | 2 [ 1290 | 45 [110
& 4 @63 | 1000 [80| 9 | 2 | 12 [100] 50 [120
‘ 70 | 1000 [100[ 12 | 2 | 18 [126] 63 |153
L 2 4-8FD = @100 1000 [120] 14 | 2 | 18 [150] 75 178

L+Stroke

Bore(5112) [Max. Stroke(BA77%)| B @FD| FT FX |FY |FZ | L
@32 500 50 9 10 64 32 | 79 [140
240 500 55 9 10 72 36 | 90 | 144
@50 600 70 9 12 90 45 [110] 163
763 600 80 9 12 100 | 50 [120[ 163
270 750 100 12 18 126 | 63 153|203
@100 750 120 12 18 150 | 75 [ 178|203

Dimensions(mm) (st 2 R < Bl(Z K))
Single Clevis Type (U E)TMBC

JCDH10 _}F
SN[
QJ
|
RR A
L+Stroke
LL+Stroke

Bore(I#2) | Max.Stroke(BX%TE) | A RR U |@CD|CX| L |LL
@32 500 23 10.5 13 10 14 |154 (164.5
240 500 23 11 13 10 14 11571168
@50 600 30 15 17 14 20 181192
263 600 30 15 17 14 20 [181]196
@70 750 42 23 26 22 30 [ 227 ] 250
@100 750 42 23 26 22 30 [227]250

1.66 TECITE




Dimensions(mm)(%h 2 R <t B(Z X))
Double Clevis Type ({U%4#)) TMBD

thRIRIESEL
Medium Cylinder

TMB(932~3100) Series

Bore

Max. Stroke

. () E) |BX7E) A | RR U @CD|CX|CZ| L |LL

S @32 | 500 [23[105| 13 | 10 | 14 | 28 [154[1645

@40 | 500 |23 11 13 | 10 | 14 | 28 [157[168

@50 | 600 | 30| 15 | 17 | 14 | 20| 40 [181(192

@63 | 600 [30| 15 | 17 | 14 | 20| 40 [181[196

L+Stroke @70 | 750 | 42| 23 | 26 | 22 | 30 | 60 |227(250
LL+Stroke @100 | 750 | 42| 23 | 26 | 22 | 30 | 60 |227|250

v
=
=
<<
=
=)
L
=
a

gTD

Dimensions(mm) (7t R <7 Bl(Z K))

L+1/2Stroke
Bore(&L12) |Max. Stroke(mAf7#)| @TD TT TX TY TZ L
332 500 12 17 50 49 74 89
240 500 16 22 62 58 95 | 92.5
@50 600 16 22 75 71 107 |104.5
263 600 20 28 90 87 130 |104.5
a70 750 20 34 110 110 | 150 [128.5
2100 750 25 30 132 136 | 182 (128.5

Double Clevis Bracket Type (WU#J%!#EEE) TMBE

3]
DX DB L+Stroke
|
AT T = — R
Dk oco SAATT e
| ‘ JTT 4-gDT _ _ _ B B
| | >
(2] | T -
8 1N e\ _ = = N
s T
DC bo  4-@brRY” | DL _|Dy
DE DA
Bore(i#) OB | DA | DB | DL | DU | DC | DX | DE | DO |@DR | @DT | DS | DH | L |@CDwwo | A° | B°
@32 | 46 | 42 | 32 | 22 | 10 | 44 | 14 | 62 | 9 | 66 | 15 7 33 | 154 | 10°9%° | 25 | 45
@40 | 52 | 42 | 32 | 22 | 10 | 44 | 14 | 62 9 | 66 | 15 7 33 | 158 | 10°9%° | 25 | 45
@50 | 65 | 53 | 43 | 30 | 11.5| 60 | 20 | 80 | 10.5 18 8 45 | 182 | 1473 | 40 | 60
@63 | 75 | 53 | 43 | 30 | 11.5| 60 | 20 | 81 | 10.5 18 8 45 | 182 | 14"9°™| 40 | 60
@80 | 95 | 73 | 64 | 45 | 14 | 86 | 30 | 111 | 125 | 11 | 22 | 10 | 65 | 228 | 22709 | 30 | 55
@100 | 144 | 73 | 64 | 45 | 14 | 86 | 30 | 111 | 125| 11 | 22 | 10 | 65 | 228 | 22°0%*| 30 | 55

HTEETE 167




)=\ /=
REFRESEL
(%] - .
: Medium Cylinder
=
D -
z TMB(932~3100) Series
Dimensions(mm) (42 R <t E(ZK))
Trunnion Bracket Type (ZhE3#£FE) TMBR
TE
T To L+1/2Stroke
a1D —_
JT il
T Fi1
> ]
o T
=
2 s
] P
TC
4-@DR TA
Bore(#1#%)) TA | TL | TU | TC | TX | TE | TO |@TR| TT | TS | TH | TF | TY L BT Doy
@32 62 | 45 | 85 | 62 | 50 | 74 12 13 10 35 | 47 | 49 | 89 129073
@40 | 80 | 60 | 10 | 79 | 62 | 96 | 17 17 | 12 | 45 | 60 | 58 | 93 16797
@50 80 60 10 92 75 | 109 | 17 17 12 45 60 71 | 105 167007
@63 10 | 70 | 15 | 110 | 90 | 130 | 20 | 11 22 | 14 | 60 | 78 | 87 | 105 20797
@80 | 100 | 70 | 15 | 130 | 110 | 150 | 20 | 11 | 22 | 14 | 60 | 78 | 110 | 129 2079
@100 | 120 | 90 | 15 | 132 | 130 | 182 | 25 | 13.5| 24 | 17 | 75 | 100 | 136 | 129 25790
Dimensions(mm)(5M 2 R <+ El(Z K))
Rod End Nut (fFif#2 ) Knuckle Joint Pin (3L F)
MM
- L
B A
— + — o
[a)
5—( \7 - Q
2-@d
B H
Bore (5 1%) B © H M Bore(f112) Al B| L | ad @Die
@40 22 25.4 8 M14x1.5 @40 36 | 4 | 44| 3 109978
@50,063 27 31.2 11 M18x1.5 50,063 51 | 45| 60 | 4 1420088
@80 32 37 13 M22x1.5 80,2100 72| 5 | 82| 4 22:5:9%
@100 41 47.3 16 M26x1.5 . .
Double Knuckle Joint (YZ! X i #£3k)
Single Knuckle Joint (I 2! & p 3£ k) - 24
E MM B RR | i ]
] ] N G
7Y ,:::4 - —1 44— ——+ - — 0|0
/] A 9 _ae E\ ,,,,,
‘\/' Y /Q I RR [[T]
c \@d B
L A
BOI’e(ﬁI&) A B C @D | Ddwo | Ewio | L R MM Bore(ﬁI&) A B C D @d 10y MM R
@40 | 19 | 19 | 40 | 22 |10"0°%® 1403 50 [12.5|M14x1.5 @40 | 40| 19| 14355 | 28733 | 10°3%%® |M14x1.5 | 11
@50,063| 24 | 24 | 50 | 28 [1073°7°|2001| 64 |16.5|M18x1.5| |@50,863| 50 | 24 | 2091 | 4031 | 1070°7° |M18x1.5 | 14
@80 | 26 | 34 | 60 | 40 |227°0°%*130°01) 80 [23.5|M22x1.5 @80 | 65| 34| 3033 | 5804 | 2270 [M22x1.5 | 20
@100 | 26 | 34 | 60 | 40 |22°9%%*|30203 80 |23.5|M26x1.5 @100 | 65| 34 | 30055 | 5803 | 22°9%* [M26x1.5 | 20
1.68 TECTE




RN EETRESIEL
Medium Cylinder/Double RodType

TMBW(932~0100) Series

v
=
=
<<
=
=)
L
=
a

Order Example (3T 4 € {51)) Double Rod Type (W& ZE4+F &)

(@ Mounting i 2% 75X @ Knuckle Joint ZEHEH

™ BWB50'50%'M9B§ @ Bore £1 12 ® Auto Switch Fi14FF %
®

@ Stroke {T#2 @® No.of Auto Switch Bt FF <4 &

D@ @

Double Rod Type (W ;EEFE) TMBWB

PORT __SR _ CushionValve

S =

e *
P
A
B D
1+Stroke J+Stroke 1
L+2xStroke
Bore(fI%) A | B | D | E F| G| H | J L MM NGO P |PTI Q| R| S| T|U|V | W MX
40 27130| 6 | 13|26.5 4 |16 | 51| 83 |185/M14x1.5| 35| 16 | 8 |1/4"13.5 9 4 1 14| 38 | 52 |2.5| M6x1.0
250 32|35 7 | 14|31| 5 |16 | 58| 83 [209|M18x1.5| 40 | 20 | 11 |1/4"| 15 |10.5] 5 | 18 |46.5| 65 | 2.5 |M8x1.25
763 32|35 7 | 14|31| 5 |16 | 58| 90 [209|M18x1.5| 45 |20 | 11 |3/8"| 16 | 12| 9 | 22 |56.5| 75 | 4 |M8x1.25
280 37|40 | 10| 20|37.5/ 5 |16 | 72 |113|257|M22x1.5| 45 | 25 | 13 |3/8"[18.5| 14 |11.5|/ 22 | 72 | 95| 4 |[M10x1.5
2100 | 37| 40| 10| 20 (37.5/ 5 | 16| 72 |113|257|M26x1.5| 55 | 30 | 16 |1/2"(18.5 15 | 17 | 26 | 89 |114| 4 |[M10x1.5
Order Example (3T ItJ 2 f5i)) Adjustable Stroke Cylinder (F[iET5{TI2SEI)
(@ Mounting ffi #f Z 3 55 ® Accessory Hfff
(2 Bore f14& (©® Auto Switch R4 FF %
T M BE 5_0 '5_05!'_9B§ -)&8/&9 @ Stroke {712 @ No.of Auto Switch B4 I % i &
Q@ ® 66 ® @ @ @ B: Stroke adjusting range 0~50mm (® Extension Adjustable Type ff t I ¥ 8!
1T#2 W1 i 5 S8 B 50~50mm (@ Retraction Adjustable Tyoe 45 5] £ &

Adjustable Stroke Cylinder (FJi{T51T#2545) TMB-XC8
Cushion Valve RS PORT %\f& .

X1z p

C+AdjustingRange | _Stroke _|_E F F E_LID B
J+Stroke |
L+2xStroke+Adjusting Range(B:50)

Bore(#%)] A | B | D | E | F | J L MM ON| @O |2-PT|2-Q| R | S U| V| wW/|P | C|@b| X| Z
@40 27 | 30| 6 | 13 |26.5| 51 | 83 |185|M14x1.5| 35 | 16 [1/4"|135| 9 4 |38 | 52|25 8 |30 32|27 4
@50 32 (35| 7 | 14| 31 | 58 | 83 |209|M18x1.5| 40 | 20 {1/4"| 15 |105| 5 |465| 65 | 25 | 11 | 39 | 38 | 32 | 15
263 32 |3 | 7 | 14| 31| 58|90 |209|M18x1.5| 45 | 20 |3/8"| 16 | 12 | 9 |565| 75 | 4 | 11 | 39 | 38 | 32 | 15
@80 37 | 40 | 10 | 20 (37.5| 72 | 113|257 |M22x1.5| 45 | 25 |3/8"| 185 | 14 |115| 72 | 95 | 4 | 13 | 48 | 45 | 41 | 18
@100 | 37 | 40 | 10 | 20 |37.5| 72 | 113|257 |M26x1.5| 55 | 30 |1/2"|18.5| 15 | 17 | 89 | 114 | 4 | 16 | 51 | 53 | 50 | 21

$TETE 169




	页 1
	页 2
	页 3
	页 4
	页 5
	页 6

